
K
om

plexitätstheorie
(4)

(W
olfgang

S
lany)

1

S
A

T
ist

N
P

-vollständig
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ollständigkeitvon

L
zu

bew
eisen.

�

M
an

zeigt
dadurch,

daß
m

an
ein

beliebiges
P

roblem
in

N
P
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isterfüllbar


m
ind.K

K
lauseln

von
F �

sind
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i �
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isterfüllbar.D
ann

istin
jedem

� x
i �

y
i �

z
i�

in
F

m
indestens

ein
Literalw

a
h
r

und
daher

in
jedem

G
i 7

K
lauseln
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erfüllbar

sind,
dann

m
uß

in
jedem

G
i

m
indestens

ein
Literal

aus
x

i ,
y

i
und

z
i

w
a
h
r

sein,und
daher

m
uß

F
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V �

der
K

notenm
enge

V
m

it� V �
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B
ew
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2 �
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in
G

gibt,die
paarw

eise
verbunden

(z
i2 j) 


�

z
p2 q )

sind.

�


es
eine

C
lique

der
G

röß
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onstruktion

istsicher
polynom

iellm
achbar.
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D
efinition:

IN
D

E
P

E
N

D
E

N
T

S
E

T
(M

ax���

)
G

eg
eben:

(ungerichteter)
G

raph
G 


� V� E� ,k� ��

G
efra

gt:
B

esitzt
G

ein
Independent

S
et

der
G

röß
e

k?
(E

in
Independent

S
et

der
G

röß
e

k
ist

eine
Teilm

enge
V �

der
K

notenm
enge

V
m

it� V �
� 


k,
sodaß�

u� v�

V �

gilt:

" u� v#
) �

E
).

T
heorem

:
IN

D
E

P
E

N
D

E
N

T
S

E
T

istN
P

-vollständig.

B
ew

eis:
M

em
bership:

G
uess

und
check

A
rgum

ent�
H

ardness:
C

LIQ
U

E�

p
IN

D
E

P
E

N
D

E
N

T
S

E
T.

B
em

erkung:
E

s
genügt,

den
G

raphen
G 


� V� E�

des
C

LIQ
U

E
-P

roblem
s+

G� k,

zum
G

raphen
G �


� V� E�

zu
invertieren

(" u� v#
�

E



" u� v#

) �

E� ,
um

das
IN

D
E

-
P

E
N

D
E

N
T

S
E

T-P
roblem

s+

G �� k,

zu
bekom

m
en.

�
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Invertierter
B

eispielgraph
aus

dem
B

ew
eis

für
C

lique
m

it
IndependentS

etder
G

röß
e
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D
efinition:

V
E

R
T

E
X

C
O

V
E

R
(N

ode
C

over,M
in���

)
G

eg
eben:

(ungerichteter)
G

raph
G 


� V� E� ,k� ��

G
efra

gt:
B

esitztG
einen

V
ertex

C
overderG

röß
e

k?
(E

in
V

ertex
C

over
der

G
röß

e
k

ist
eine

Teilm
enge

V �
5

V
m

it

� V �
� 


k,sodaß�" u� v# �

E
gilt:u�

V �

oderv�

V �

).

T
heorem

:
V

E
R

T
E

X
C

O
V

E
R

istN
P

-vollständig.

B
ew

eis:
M

em
bership:

G
uess

und
check

A
rgum

ent�

H
ardness:

IN
D

E
P

E
N

D
E

N
T

S
E

T�

p
V

E
R

T
E

X
C

O
V

E
R

.

B
em

erkung:
I

ist
ein

Independent
S

et
der

G
röß

e
i

des

G
raphen

G 

� V� E� 


V �

def




V 6

I
istein

V
ertex

C
over

der
G

röß
e

k
def
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S
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m
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V
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C
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G
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e
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D
efinition:

S
U

B
S

E
T

S
U

M
(K

napsack,R
ucksack)

G
eg

eben:
Z

ahlen
a

1� a
2� ���� a

k � ��

und
b� ��

G
efra

gt:
G

ibtes
I5" 1� 2� ���� k#

m
it∑

i7

I a
i 


b
?

T
heorem

:
S

U
B

S
E

T
S

U
M

istN
P

-vollständig.

B
ew

eis:
M

em
bership:

G
uess

und
check

A
rgum

ent�

H
ardness:

3C
N

F�

p
S

U
B

S
E

T
S

U
M

.

S
ei

F
def



1

mi .

1� z
i2 1 �

z
i2 2 �

z
i2 3�

eine
beliebige

3C
N

F
F

orm
el

w
obei

z
i2 j �" x

1� x
2� ���� x

n# *" �
x

1� �
x

2� ���� �

x
n#

.
D

ann
istdie

Z
ahlb

gegeben
durch

(zb
im

D
ezim

alsystem
)

b
def




444��� 444

8
9:

;

m

11��� 11

8
9:

;

n

Falls
zB

F
aus

3
K

lauseln
besteht

und
darin

5
V

ariablen
vorkom

m
en,so

ist
b 


444
11111

.

�
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zB
F 


� x
1 � �

x
3 �

x
5� �

� �

x
1 �

x
5 �

x
4� �

� �

x
2 � �

x
2 � �

x
5�

W
ir

m
üssen

noch
die

Z
ahlen

a
i definieren

(4
K

lassen):

�

(1)
P

ositive
V

ariablenvorkom
m

en
(inkl.A

nzahl):

v
1 


100
10000

v
2 


000
01000

v
3 


000
00100

v
4 


010
00010

v
5 


110
00001

�

(2)
N

egative
V

ariablenvorkom
m

en
(inkl.A

nzahl):

v �

1 


010
10000

v �

2 


002
01000

v �

3 


100
00100

v �

4 


000
00010

v �

5 


001
00001

�

K
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�

(3)
A

usgleichszahlen
(falls

ein
Literalf

a
l
s
c
h

):

c
1 


100
00000

c
2 


010
00000

c
3 


001
00000

�

(4)
A

usgleichszahlen
(falls

zw
eiLiterale

f
a
l
s
c
h

):

d
1 


200
00000

d
2 


020
00000

d
3 


002
00000

�

E
s

gibt
keine

A
usgleichszahlen

für
den

Fall,
daß

drei
Literale

f
a
l
s
c
h

sind
:-)

��

erfüllende
B

elegung
B




�

A
usw

ahlA
der

Z
ahlen,die

sich
zu

b
aufsum

m
iert:

x
i in

B
w
a
h
r


v
i in

A
x

i in
B
f
a
l
s
c
h


v �

i in
A

�
K
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plexit ätstheorie
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S
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�

D
a

hinterer
Teilvon

b 


444
11111

nur
aus

E
insen

be-
steht

kann
nur

entw
eder

v
i oder

v �

i in
A

sein;
einer

da-
von

m
uß

aber
drin

sein,
da

die
anderen

V
ariablen

an
der

entsprechenden
S

telle
alle

eine
N

ullstehen
haben.

�
B

sp:
B 


" x
1� x

4#

(andere
f
a
l
s
c
h

)
ergibt

A
usw

ahl
v

1� v �
2 � v �

3 � v
4� v �

5 .S
um

m
e

davon
ist213

11111
(w

ichtig:
im

vorderen
Teilsind

alle
größ

er
als

N
ull,

da
die

A
us-

gleichszahlen
nur

Z
ahlen

größ
er

als
N

ull
ausgleichen

können,und
hinten

sind
alle

E
ins,dh

alle
V

ariablen
ha-

ben
einen

W
ertzugew

iesen
bekom

m
en).

�

D
urch

H
inzunehm

en
von

geeigneten
A

usgleichzahlen,
in

diesem
Falld

1� c
2� d

2� c
3 ,erhalten

w
irdie

gew
ünschte

S
um

m
e

b 


444
11111.

�

D
a

es
keine

Ü
berträge

zw
ischen

den
S

tellen
gibt,

” funktioniert“
der

B
ew

eis
in

beide
R

ichtungen.
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